AmphenOl Document NO. : ATZ-WI-201906-002

Industrial Operations Date: 20190604
Amphenol Technology (Zhuhai) Co., LTD. Rev. F

The Assembly Work Instruction
o e

5.7mm Surlok Plus Receptacle Connector Screw Type

5.7mm Surlok+ Jf FE E B A B 4 2K

C10-730187-X2XX

Amphenol Technology (Zhuhai) Co., LTD
No.63, Xinghan Road, Sanzao Town, Jinwan, Zhuhai, PRC, 519040
http://www.amphenol-industrial.com




Part 1: Package contents

%*%ﬂzﬁ’: @%1%$

Receptacle connector 7 B % # 23

Notes: There will be no gasket when no sealing requirement.

i To B K BRI AR




Part 2: Receptacle assembly

BIr: R E
Step 1: Tighten M6 nut onto Busbar (recommended torque is 1.5~2.0N.m)

SR FrEMEIERE (HEFEFA%E1.5~2.0N.m)

Busbar or PCB or others application

A PcBT I E R

M6 Washer MEX1 Nut

MeFH 2 Mex1 126

Ly
Mount Panel /

AR

a: Receptacle tail (studs side) pass through the hole of mounting panel
J60 PR P8 I (HEAE ) 5 N 22 R T AR L Y

b: Studs pass through copper busbar and washer and nut in proper order
WA K 2 N, 977 i 2 B R B

c: Tighten nut by tool
fii ] T B A7 K AR B




Step 2: Tighten receptacle onto the panel with M4 bolts (recommended torque is 0.4~0.7N.m)
ABR2: A A MARR R 4 2 [F] s 7E TH AR b (#% 11%50.4~0.7N.m)
(1. Recommended M4 bolts refer to QB/T70.2-2015)
2 {F FQB/T70.2-20154R ¥ FIMAIE 2 .
(2. Recommended M4 Spring washer refer to BS 4464:1969(2004) )

HE 15 FIBS 4464:1969(2004) bR/ (IMABAZE T A,

1\ ll\
AR o
D)) hﬂm}‘ W HJQ

—




